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Part | { 30 x 2 marks)

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the
Optical Answer Sheet.

1. Which one of the following is a living thing?

tortoise _ bicycle kite
(1) @ 3) (4)
2.

This shows that the mimosa plant is a living thing because it can

(1) grow taller and bigger (3) respond fo changes
(2) breathe in air (4) reproduce young



3. Some'materials have been classified into 2 groups as shown below. -

Group P Group Q
Plastic Wood
Rubber: Cloth
Steel Paper
The above materials are classified into Group P and Q based on whether they
are
(1) Flexible
(2) Magnetic
(3} Waterproof

(4) Transparent

4. Study the chart below.

Animals
I
| 1
Have legs Have no legs
] I
I I ! D
2legs G legs More than 6 legs
I ] !
A B C
Where would you put this animal in the chart above?
(A (2) B 3 C 4D



5 ‘Amanda made some observations about 2 animals, X and Y. She drew up the
table as shown below.

Animals
Characteristics X Y
Legs Yes Yes
Wings Yes No
Scales No Yes
Feathers Yes No

Which of the following will Amanda be able to conclude based on her
observations?

(1) Animal X is a bird
(2) Animal X is a fish
(3) Animal Y is a bird
(4) Animal Y is a fish

6. Which patt of the plant (1), (2), (3) or (4) is the leaf?
.- » {1)

2}

3)

)




7. Study the flowchart below.

Yes | Liveinwater
Lay eggs " throughout its |—&S»f F

fife cycle
No

Y lNO
E

Has 3 stages {Yes | G
in its life cycle

No
H

Based on the information given, which of the following is true?

(1) Both animals E and F lay eggs.

(2) Animals G and H live in water throughout their life cycle.

(3) Animal G has a 4-stage life cycle but Animal H does not.

(4) Animal F lives in water throughout its life cycle but animal H does not.

8. What is the main function of the large infestine?

(1) It allows digested food to be passed into the blood.
(2} it allows water to be passed into the blood.

(3) It removes digésted food from the body.

(4) It removes undigested food out of the body.

8. Which one of the following is NOT a source of heat?

(1) the sun (3) a candle flame
(2) a lighted bulb (4) a wool sweater



10. The diagram below shows the life cycle of an animal.

TN

egg

adult nymph

Which animal is likely to have the life cycle as shown above?
(1) beetle
(2) butterfly

(3) chicken
(4) cockroach

11. The diagram below shows the water cycle.

Clouds
ProcV

Water vapour
Rain

—

Water Bodies
Which of the following correctly shows Process S and Process T?

Process S

Process S Process T
1) [ Condensation Heat Loss | Evaporation Heat Gain
(2) | Evaporation Heat Loss . | Condensation Heat Gain
(3) | Condensation Heat Gain Evaporation Heat Loss
(4) | Evaporation Heat Gain | Condensation Heat Loss




12. Five bar magnets-with their ends marked A to J can be arranged as showri
below. T

A BiC i J
H |
D
E FlG
Which of the foliowing diagrams shows a possible arrangement of two of the
magnets®?
(1) 3}
A B C O
G G
H H
@ (4)
Ci E
0|4 [ A Bl F

13. Which one of the following properties is true for both air and a pencil?

(1) They can be seen.

(2) They have fixed shapes.
(3) They have fixed volumes.
(4) They.take up space.



14. Pei Ling shines a torch on the metal container as shown below,

torch metal can screen

Which one of the foliowing shows the shadow of the metal container on the
screen?

(1) (3)

i @

15. The graph below shows the time taken for 4 cooking pots made of different
materials, A, B, C and D, to reach 90°C.

Temperature (°C)

» Time (mins)

Dayna wants to make a container that can allow ice cream to stay solid for the
tongest time. Which one of the following materials would aliow her to do sp?

WA (3)C
(2B @D



16. 150 cm’ of boiling water is poured into 3 containers of similar shape and size, X,

Y and Z. The 3 containers are then tightly sealed and left on a table.

thermometer

Container Z
(ceramic)

Container Y
(steel)

Container X
{plastic)

150 cm® of boiling water
inside container

Which of the following tables correctly shows the time taken for the water in each

container to cool to room temperature of 28°C?

M

)

Container Time taken {o cool to
room temperature (min)
X 30
Y 45
Z 20
Container | Time taken to coal to
room femperature (min)
X 45
Y 20
Z 30

3

Q)]

Container | Time taken to cool fo
room femperature {min)
X 20
Y 30
Z 45
Container | Time taken to cool fo
room femperature {min)
X 20
Y 45
Z 30




17. Catherine wants to measure the temperature of hot water in a beaker.

Which one of the following diagrams shows the correct position of the
thermometer when taking the temperature reading?

(1) ()

2 “)

10



18. Amy carried out an experiment to find out which beaker would have the least
amount of water after 1 week. She placed the 3 beakers as shown below on the
table.

Layer of oil

Beaker B Beaker C

Given that all 3 beakers had the same amount df water at the start of the
experiment, which of the following correctly shows the amount of water, from the
least to the most, in the beakers at the end of 1 week?

leastwater ——> Most water
(1) B A, C '
(2) - C ., A , B
(3) A B , C
(4) B C A

19. Kimberly wanted to find out how the position of a torch and an object can affect
the size of the shadow formed. Which of the following set-ups will result in the
largest shadow on the screen? -

(1) screen 3 screen
torch object torch object
P Q@ R s T P Q@ R S T
2) (4)
screen screen
torch object torch object

P @ R S T. '~ P Q@ R S T

11



20. Jessica set up an experiment with two containers of water at room temperature,
A and B. The containers are made of plastic and metal respectively and were of
the same size and thickness. She placed them at equal distance from an electric
heater over a period of time as shown below.

_Electric Heater

A: Plastic i B: Metal

Which of the following correctly shows the increase in temperature of water over

time?
4y (3)
Temperature of Temperature of
water (°C) water (°C)
A A A B
/ B / A
* Time * Time
(2) @ _
Temperature of Temperature of
‘water (°C) water (°C)
A 3 A
A
>< | )
1 B
> Time “— Time

)



21. Becky placed a beaker of water in the freezer and took it out 3 hours later. The
diagram below shows the beaker when she removed it from the freezer.

ice

She left the beaker on the fable top. 2 hours later, she returned and tilted the
beaker.

Which of the following shows the beaker when it is tilted?

(1) (2) &)

3



22 The same amount of water was poured into 3 different contain

f a moving fan.

containers were then left in the classroom and placed in front o

Co

Container B

Container A

Which of the graphs below correctly shows the amount of water leftin the 3

containers at the end of the day?

3
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23. A metal spoon was placed in a cup of hot coffee as shown in the diagram below.

Metal spoon

Cup of coffee

Which of the following graphs correctly shows the temperature change of the
coffee and the spoon over 30 minutes?

(1)

4

Temperature (°C)
\

-

Time (min)

Temperature (°C)

.
-

Time (min)

3)

(4)

5

Temperature (°C)

Temperature (°C)

Key:
Coffee
______ Spoon
Time (min)
Time (min)




24. Hashim wanted to find out which material, A or B, would allow cold water in a
beaker to gain heat the fastest. Given that the materials used were of the same
thickness and the temperature of the water in the beakers was the same at the
start of the experiment, which of the following set-ups should he choose?

(1)

Glass beaker
100ml water
Material A

Plastic beaker
100ml water
Material B

)

Glass beaker
50ml water
Material A

Glass beaker
50m! water
Material B

Glass beaker
50ml water
Material A

Glass beaker
100 mi water
Material B

Glass beaker
50m| water
Material B

Plastic beaker

50m! water
Material B

25. Rani kept guppies in 2 tanks X and Y under different conditions. The table below
shows the conditions that the guppies were kept in.

Tank Amount of Amount of Number of Number of air
water food guppies pumps
A 3 fitres 10g a-day 5 4
B 3 litres _10g a day 5 0

After 1 week, Rani found that guppies in Tank A were swimming at the bottom of
the tank while guppies in Tank B were swimming near the water surface. What

could be the reason for the above difference in her observation?

(1) There was not enough food in Tank B.

(2) There was not enough dissolved air in Tank B.

(3) The water plants provided shelter for the guppies in Tank A.

(4) There were no water plants for the guppies to hide in in Tank B.

16




26. On which watch glass will most water dropléts appear after 2 minutes?

(1) (3}
_ watch watch
glass with glass with
ice cubes ice cubes

waier water
agC 70°C

(2) (4)

walch watch
glass glass

water
j0°C

27. Mary placed an ice cube on a fable and 5 minutes later she found a pool of water
in the place of the ice cube. 3 hours later, she found that the table was dry even
though it had not been wiped.

During the experiment, water existed as a

(1) fiquid only

(2) solid and gas only
(3} solid and fiquid only
(4) gas, liquid and solid

17



28. The classification chart below shows some body systerns.

Body Systems
A B C
Lungs Veins Stomach
Nostrils Heart Gullet
Windpipe Arteries Anus

Which of the following correctly shows what systems A, B and C are?

A B C
(1) Circulatory Respiratory Digestive
(2) Digestive Respiratory Circulatory
(3) Circulatory Digestive Respiratory
1(4) Respiratory Circulatory Digestive

29. The graph below shows the length of each stage in the life cycle of an insect.

Days
F 3

12
10 -

iy - - » Stage
Exg Nymph  Adaft

How many days would it take for the insect to become an adult after the egg is

laid?
(1) 6 days (3) 18 days
(2) 12 days (4) 26 days

18



30. in which'part of the digestive system is digested food absorbed into the
bloodstream? ‘ T

3
(4)

19
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Booklet B (40 marks)

Answer all the following questions.

31.

b) .

Choose the correct words from the box to answer the questions below.

gullet large intestine mouth small intestine stomach

" In the human digestive system, name the part where

-

digestion firstitakes place : (1m)

digestion is completed : {1m)




32.  The classification chart below shows how some organisms can be grouped.

X:

a) In the diagram above, give the classification chart a suitable heading by filling in
box X. (1m)
b) Tick ( ) the_similar characteristics between Group P and Q. (2m)
Characteristic . Similar?
) Needs food fo stay alive

it) Able to reproduce

iii) Needs to take in air fo survive

iv) | Able to move from place to place on its own




33.

b)

b

Susan.places a magnet.near an iron rod. The.iron rod moves towards the
magnet.

Magnet exerts a on the iron rod. (1m)

Choose the correct word from the box to answer the question befow.

hard magnetic strong

Susan’s observation shows that iron is a material. (1m)

Vivian wanted fo test the strength of different magnets. She set up the

experiment as shown below.

Plastic ray
with fron pins

Rank the magnets from the strongest to the weakest by filling the boxes below .
with A, B, C and D. (2m)

Strongest > Weakest

State one change that can be made to the above set-up to make it a fair test.
(1m)




35. Paul baked 4 loaves of bread A, B, C and D by changing the amount of waler
added and he kept other ingredients constant. He then placed each loaf of bread
into an air-tight plastic container'and left them in a room for a week as shown in
the diagram below.

Air-tight container

Bread

The table below shows the resulfs of his experiment.

Bread Ag; ?22: g;g:;e[uic:g‘;d Area of bread mould formed {cm?)
A . 5 0.8
B 10 1.4
C 15 2.3
D 20 3.2
a)  Whatis the aim of Paul's experiment? (1m)

b) Based on the data above, what is the refationship between the amount of water
added and the area of bread mould formed? (2m)




36. Thetable be,low‘ shows characteristics of 3 animals, S, T and U.

Characteristic Animal

S T U

The young looks fike the aduit. Yes No No

The aduit has 6 legs. No No Yes

The adult lay their eggs in water. No Yes Yes
a) Which animal is likely to have a 4-stage life cycle? (1m)
b) Based on the characteristics given above, state. 1 difference between Animal S

and Animal T. (1m)
C) “Animal U spends its entire life_cycle on land”

Based on the information given in the table, explain why the statement above is

not true.

(1m)




37. The pictures below show the stages of growth of a’bean plant.

P Q R s
a) In the diagram below, put P, Q, R in the correct boxes to show the life cycle of
the bean plant. (1m)
s

N
N

b) Choose the correct words from the box to answer the guestion below.

egg seed young plant adult plant.
Name the stages Rand Q in tf-1e life cycle of the bean plant. (2my)
R:
Q:




38. Aileen enters a room and sees a candle flame and a ball.

VAR
lamp on
candie flame
a) Aileen can see the ball because it light from the lamp.

(1m)

When she switches off the light in the room, the room is completely dark. She
can still see the candle flame at the corner.

lamp off
. cardle flame
' b) Aileen can see the candle flame because it light. (1m)




39.

The tabie below shows the states of 4 substances E, F, G and H at different

temperatures.
S.ubstance State of substances at
20°C 50°C 80°C
E Solid Solid Solid
F Liquid Liquid Gas
G Liquid Liquid Liquid
(a) Put atick (v) in the correct box to indicate if each statement is True or False.
(2m)
True False
(i) Substance E has the lowest melting point.
(i) Substance F has a lower boiling point than G.
b} Which substance/s are solids at 35 C? (1m)
40. The diagram below shows a cooking pot.
pof’s handle
(plastic)
a) The pot’s handie is made of plastic because itis a conductor of o
: heat. (1m)

b)

The pot's body is made of metal because ifis a

conductor of heat.

(1m)




4'1.. The following table .shows the properties of Materials P and Q.

Properties P Q

It can be sfretched. Yes No
Its material/s was once alive. Yes No
It is a good conductor of heat. No No
It allows some light to pass through. No Yes

Study objects X, Y and Z.

rubber tyre metal and glass mimor woodeniable

a) Which of the above objects is likely to be constructed using Material P?
(1m)

b) Materials P and Q are cut into the shape of a friangle as shown below.

/\

They are then placed between a torch and a screen. Write “P” and “Q" in the
correct boxes to indicate what can be observed on the screen when the torch is
turned on. (2m)




42.

b}

Sam places a toy car in a box which has holes cut on 2 opposite sides of the
box as shown in the diagram below. :

Sém’s P l
eye <‘<

Sam is unable to see the toy car even when the torch is tumed on.

in the diagram above, draw an arrow showing how the light travels when the

forch is turned on.

(tm)

Without using additional objects or tilting the box, state what Sam can do in order
to see the toy car in the box and explain why he can now see if.

(2m)

43.

b)

Janet poured 200 m/ of hot water into 3 bowls made of different materials, X, Y
and Z. She used a temperature sensor to measure the temperature of the water

in the 3 bowls at intervals of 2 minutes and recorded it in the table below.

Temperature (°C)

Tlme (mm } Material X

Material Y

Material 2

80

80

80

79

74

77

78

66

72

- 78

60

66

COO'}-IBNO

76

55

59

fn the table above, fill in the temperature of Material Z at the 4™ minute.

Which material, X, Y or Z, is the poorest conductor of heat? Explain.

(1m)
(1m)




44.  Study the four set-ups shown below.

A00mlof water 200miofwater 200miofwater 200mi of waler
at 90°C at 90°C at 70°C af 90°C

a) Which 2 set-ups should Sophie use fo conduct an experiment for each of the
following aims:

i) To find out if the volume of water will affect the amount of heat cooking the eggs.

(1m)

Séf—up and

i) 'tfo:iﬁnd out if the temperature of water will affect the amount of heat cooking the
eggs.
Set-up and . (1m)

“b) Can Sophie use Set-up B and D to find out if the number of eggs affect the time
taken to cook it? Explain. (1my)

11




45.

b)

Melissa poured 150ml of water into a beaker as shown in diagram A. She then

placed some plasticine in the beaker. The water level rose as shown in diagram

A B
5 , \ .
400 |- | 400 |-
300 | 300 |
200 [~ . 200 |
100 =~ 100 [==

plasticine

She then carefully placed a metal cube of volume 150cm? into the beaker as
shown in diagram C.

C

400
300
200 -
100

plasticine etal
cube
In diagram C above, draw the new water level in the beaker. (1m)

Melissa removed the plasticine and reshaped it into a ball. She then carefully
placed the plasticine ball back into the beaker together with the metal cube.

Wil the water level be higher, lower or the same as the water level you have
drawn? Give a reason for your answer. (2m)

12




2014 Primary 4 SA2 Answers

1) 1 6) 2 11) 4 16) 2 - 121) 4 26) 1
2y 3 7) 4 12) 1 17) 2 22) 4 27) 4
3) 3 8) 2 13) 4 18) 2 23) 1 28) 4
4) 3 9 4 14) 3 19y 3 24) 3 29) 3
5) 1 10) 4 15) 4 20) 3 25) 2 30) 4
Qn | Suggested Answers
3
a) Mouth  b) small intestine
32a) Living things
32b) Characteristic Common?
i) Needs food to stay alive v
ii) | Able to reproduce v
ii) | Needs to take in air to survive v
iv) | Able to move from place to place on
its own
33 .
a) Pull/force b) magnetic
34a) .
pl—|B|—|A] 7 Lc
34b) Hang the magnets from the same height. OR
Make the distance between the magnets and the iron pins the same.
35a)- To find out how the amount of water added to bread affects the area
of bread mould formed /amount of mould growth
35b) The more water added, the more bread mould is formed.
OR The more water added, the more area of bread mould growth.
36a) Animal U
36b) The young of Animal S looks fike the adult but the young of animal T
does not look like the adult /T doesn't .
OR  Adult T lays its eggs in water but Aduit S does not.
36¢) U lays its eggs in water (therefore the egg stage is spent in water).
37a)

T T




37D) R Seed T Q: Adult Plant
38 by . .
a) Reflects A emits / produces/ is a source of / gives off
39a) True False
v
39b) v
E
40 a) Bad/poor b) good
41a) Rubber tyre / X
) 'S o
(@] ] 7]
42a) | |
<f< {r—
42b)
Tilt the torch downwards (1m) so that light can fall on the toy car and
can be reflected into Sam'’s eyes (1m)
43a) Between 67 and 76 °C (inclusive)
43b) X (1/2m) The bow! made with Material X had the slowest decrease in
temperature. / water lose heat most slowly/ heat is conducted away
most slowly
44a ,b) a) Aand D b)Band C
44c) No. The size of the eggs in both beakers is different so it is not a fair
test.
45a) Water level at 400ml .
45b) Same. Changing the shape of the plasticine will not change its

volume. ...
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